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�����\ÕOÕ�EDúÕQGD�G�Q\D�KD]ÕU�JL\LP�WLFDUHWLQGH�\DúDQDQ�GXUJXQOXN��SHWURO� IL\DWODUÕQGDNL� DúÕUÕ� DUWÕúODU�� \HQL� UHNDEHW� RUWDPÕQGDQ� ND\QDNODQDQ�]RUOXNODU� YH� DQD� SD]DUÕPÕ]� RODQ� $%� HNRQRPLVLQGHNL� GXUJXQOXN� GLNNDWH�DOÕQGÕ÷ÕQGD�� WHNVWLO� LKUDFDWÕQ� J|VWHUGL÷L� SHUIRUPDQVÕQ� ROGXNoD� L\L� ROGX÷X�V|\OHQHELOLU���
�����\ÕOÕQGD�JHQHO�LKUDFDW�LoLQGHNL�SD\Õ������RODQ�WHNVWLO�LKUDFDWÕQÕQ������\ÕOÕQGD�EX�SD\Õ�NRUXGX÷X��������V|\OHQHELOLU�������\ÕOÕQÕQ�2FDN±(NLP�G|QHPLQGH�� WHNVWLO� VHNW|U�QGH� NDSDVLWH� NXOODQÕP� RUDQÕ� LVH� ���¶LQ��]HULQGHGLU���
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�����\ÕOÕQÕQ� LON�\DUÕVÕQGD� WRSODP�VDWÕúODU�����YH�RWRPRELO� VDWÕúODUÕ�����RUDQÕQGD�GDUDOPÕúWÕU��$QFDN��LNLQFL�\DUÕGD�WRSODP�SD]DU������RWRPRELO�SD]DUÕ� LVH� ���� D]DOPÕúWÕU�� g]HOOLNOH� \ÕOÕQ� LNLQFL� \DUÕVÕQGD� JHUoHNOHúHQ�SD]DUGDNL�EX�GDUDOPDGD�<7/¶QLQ�����GH÷HUH�ND\EHWPHVLQH�ED÷OÕ�RODUDN�WDúÕW�NUHGLVL� IDL]OHULQGHNL� DUWÕúÕQ� VRQXFXQGD� WDOHSWHNL� G�ú�ú�Q� HWNLOL� ROGX÷X�V|\OHQHELOLU��
�����\ÕOÕQGD������RUDQÕQGD�E�\�\HQ�RWRPRWLY�SD]DUÕ�������\ÕOÕQGD�����RUDQÕQGD�D]DODUDN�����ELQ�DGHWH�JHULOHPLúWLU��7RSODP�SD]DUGD� LWKDODWÕQ�SD\Õ�������\ÕOÕQGD�ROGX÷X�JLEL�����G�]H\LQGH�JHUoHNOHúPLúWLU��
�����\ÕOÕ�RWRPRELO�SD]DUÕ� LVH�����D]DODUDN�����ELQ�DGHW�G�]H\LQGH�JHUoHNOHúPLúWLU��2WRPRELOGH�LWKDODWÕQ�SD]DU�SD\Õ�����ROPXúWXU�������\ÕOÕQGD�ROGX÷X�JLEL�(852�GH÷HULQLQ�HQIODV\RQ�GH÷HULQLQ�DOWÕQGD�JHUoHNOHúPHVL��LWKDO�RWRPRELOOHULQ�FD]LEHVLQL�GHYDP�HWWLUPLú�YH�SD]DUÕQ����¶LQLQ�LWKDO��U�QOHUGHQ�ROXúPDVÕQD�QHGHQ�ROPXúWXU�������\ÕOÕQGD�ROGX÷X�JLEL�EX�RUDQ��VRQ����\ÕOOÕN�G|QHPGH�LWKDODWÕQ�HOGH�HWWL÷L�HQ�\�NVHN�RUDQ�RODUDN�J|]H�oDUSPDNWDGÕU��
8OXGD÷� øKUDFDWoÕ� %LUOLNOHUL� YHULOHULQH� J|UH�� ����� \ÕOÕQGD� VDQD\LQLQ�LKUDFDWÕ� JHoHQ� \ÕOD� J|UH� ���� DUWÕúOD� ����� PLO\DU� $%'� GRODUÕQÕ� JHoPLúWLU��7�UNL\H�LKUDFDWÕQGD�ELULQFL�VÕUDGD�\HU�DODQ�VDQD\LQLQ��WRSODP�LKUDFDWWDNL�SD\Õ����� ROPXúWXU�� 7�UNL\H¶QLQ� ����� \ÕOÕQGD� WRSODP� �UHWLPLQ� ���¶VÕ� LKUDo�HGLOPLúWLU��
����� \ÕOÕQGDNL� ROXPVX]� VH\UH� NDUVÕQ� RWRPRWLYFLOHU� ����� \ÕOÕQD�XPXWOX� EDNPÕúODUGÕU�� 2WRPRWLY� IL\DWODUÕQGDNL� J|UHFHOL� RODUDN� JHULOHPHQLQ�\DQÕ� VÕUD� HNRQRPLGHNL� E�\�PH� YH� \HQL� PRGHOOHULQ� oÕNÕVÕQÕQ� VHNW|U��KDUHNHWOHQGLUPHVL�EHNOHQPHNWHGLU��
$÷Do�PDPXOOHUL�YH�RUPDQ��U�QOHUL�VHNW|U���
$÷Do�PDPXOOHUL�YH�RUPDQ��U�QOHUL�VHNW|U�������\ÕOÕQGD�����PLO\RQ�GRODUOÕN�LKUDFDW�\DSPÕúNHQ������\ÕOÕQGD�ELU�|QFHNL�\ÕOD�J|UH��������DUWÕúOD���PLO\DU� ����PLO\RQ� GRODUOD� HQ� ID]OD� LKUDFDW� JHUoHNOHúWLUHQ� VHNW|UOHU� DUDVÕQGD�\HU�DOPÕúWÕU��
7�UN� PRELO\D� VHNW|U�Q�Q� LKUDFDWÕ� VRQ� �� \ÕOGD� RUWDODPD� ���� DUWÕú�J|VWHUPLúWLU�� $OPDQ\D�� <XQDQLVWDQ�� ,UDN�� +ROODQGD�� $%'�� )UDQVD�� øVUDLO� YH�øUDQ�EDúWD�ROPDN��]HUH�KDOHQ������ONH\H�PRELO\D� LKUDo�HGLOPLúWLU��$OPDQ\D�EX��ONHOHU�DUDVÕQGD����¶OÕN�SD\�LOH�|QGH�JHOPHNWHGLU��
0RELO\D�VHNW|U�QGH�\DúDQDQ�KÕ]OÕ�JHOLúLP�YH�\DNDODQDQ�GLQDPL]PLQ�VDQD\LOHúPH� V�UHFLQL� KÕ]ODQGÕUÕS� WDVDUÕP� oHúLWOLOL÷LQL� DUWWÕUPDNWD�� VHNW|U�Q�

� +DVDQ� 3$5,/7,�� %HUQD� 7h5.$17�� 7�UNDQ� %$<5$.7$5�� ³7HNVWLO� 6HNW|U�Q�Q� øKUDFDW�
3HUIRUPDQVÕ�<ÕOOÕN�'H÷HUOHQGLUPH�����´��ø7.ø%�$U	*H�YH�0HY]XDW�ùXEHVL���FDN�������V��
���

��� 26'������<ÕOÕ�'H÷HUOHQGLUPH�5DSRUX��V��������KWWS���ZZZ�RVG�RUJ�WU��������������
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JHOLúPHVLQGH� HQ� E�\�N� HWNHQOHULQ� $5�*(� oDOÕúPDODUÕQÕQ� DUWWÕUÕOPDVÕ� YH�W�NHWLFLQLQ�ELOLQoOHQPHVL�ROPDNWDGÕU��
dLPHQWR�VHNW|U���
����� \ÕOÕQGD� HNRQRPLN� LVWLNUDUÕQ� VD÷ODQPDVÕ�� IDL]� YH� G|YL]�JHOLUOHULQLQ� G�úPHVL�� LSRWH÷H� GD\DOÕ� NRQXW� úDWÕúÕQÕQ� J�QGHPH� JHOPHVL�QHGHQL\OH� NRQXW� LQúDDWODUÕQGDNL� FDQODQPD\D� SDUDOHO� RODUDN�� oLPHQWR� \XUWLoL�WDOHELQGH� E�\�N� DUWÕú� ROPXúWXU�� dRN� D÷ÕU� JHoHQ� NÕú� úDUWODUÕQD� UD÷PHQ� �����\ÕOÕQÕQ� LON� EHú� D\ÕQGD� ����������� WRQ� RODQ� Lo� SD]DU� oLPHQWR� W�NHWLPL�� �����\ÕOÕQÕQ�D\QÕ�G|QHPLQGH�����DUWDUDN������������WRQD�\�NVHOPLúWLU���
�����\ÕOÕQGD��Lo�WDOHSWH�PH\GDQD�JHOHQ�EX�DUWÕúÕ�NDUúÕODPDN�LoLQ��ELU�\DQGDQ�oLPHQWR��UHWLPL�DUWÕUÕOÕUNHQ��GL÷HU�WDUDIWDQ�oLPHQWR�LKUDFDWÕ�D]DOWÕOPÕú�YH� Lo� SL\DVDGDNL� WDOHS� DUWÕúÕ� NDUúÕODQPD\D� oDOÕúÕOPÕúWÕU�� <LQH� ����� YH� �����\ÕOODUÕ�2FDN�0D\ÕV�G|QHPLQH�EDNWÕ÷ÕPÕ]GD�������\ÕOÕQGD������������WRQ�RODQ�oLPHQWR� �UHWLPL����� DUWDUDN� ����������� WRQD� \�NVHOPLúWLU�� $\QÕ� G|QHPGH�����������WRQ�RODQ�oLPHQWR�LKUDFDWÕ�YH�����������WRQ�RODQ�NOLQNHU�LKUDFDWÕ�GD�VÕUDVÕ\OD�����YH�����D]DODUDN�����������WRQ�YH���������WRQD�JHULOHPLúWLU��
dLPHQWR�VHNW|U�������\ÕOÕ�E�\�PH�WDKPLQOHULQL����LOH����FLYDUÕQGD�RODUDN� \DSPÕúNHQ�� \ÕOÕQ� LON� \DUÕVÕQGD� \DúDQDQ�KÕ]OÕ� E�\�PH��UHWLP�� VDWÕú� YH�LKUDFDW� SURJUDPODUÕQÕQ� UHYL]\RQXQX� PHFEXU� NÕOPDNWDGÕU�� %XJ�QH� NDGDU�VDGHFH�LKUDFDW�\DSÕODQ��ONHPL]GH�\�NVHN�PDOL\HWOHUH�UD÷PHQ�LWKDODWOD�PHYFXW��UHWLP�DoÕ÷ÕQÕQ�NDSDWÕOPDVÕQD�oDOÕúÕOPDNWDGÕU��
�����\ÕOÕQGD�(\O�O�D\Õ�LWLEDUL\OH�LVH�oLPHQWR��UHWLPL�JHoHQ�\ÕOÕQ�D\QÕ�G|QHPLQH� J|UH� ������ DUWÕú� J|VWHUHUHN� ����� PLO\RQ� WRQ� VHYL\HVLQH�\�NVHOLUNHQ�� NOLQNHU� �UHWLPL� LVH� ����� \ÕOÕQGD� ������� DUWÕú� LOH� ����� PLO\RQ�WRQD�������(\O�O�D\Õ�LWLEDUL�LOH�GH�JHoHQ�\ÕOÕQ�D\QÕ�G|QHPLQH�J|UH������DUWÕú�J|VWHUHUHN������PLO\RQ�WRQD�oÕNPÕúWÕU��
����� \ÕOÕQGD� ����� PLO\RQ� WRQ� VHYL\HVLQGH� JHUoHNOHúHQ� Lo� W�NHWLP������� \ÕOÕQGD� JHUoHNOHúWLULOHQ� SURMHOHU� YH� E�\�PHQLQ� GH� HWNLVL\OH� (\O�O� D\Õ�LWLEDUL\OH�������DUWÕú�J|VWHUHUHN�������PLO\RQ�WRQD�\�NVHOPLúWLU��
'HYDP� HGHQ� NRQXW� SURMHOHULQLQ� ����¶GD� VHNW|U�Q� ����� \ÕOÕQGDNL�SHUIRUPDQVÕQÕ� GHYDP� HWWLUHFH÷L� \|Q�QGHNL� EHNOHQWLOHUL� DUWWÕUPDVÕQD� NDUúÕOÕN��VHNW|U�\HWNLOLOHUL�NRQXW�NUHGLOHULQGHNL�\ÕOÕQ�LON�oH\UH÷LQGHQ�LWLEDUHQ�EDúOD\DQ�\�NVHOLú� VRQXFXQGD� \HQL� NRQXW� SURMHOHUL� LoLQ� WDOHELQ� NHVNLQ� ELU� G�ú�ú�\DúDGÕ÷ÕQÕ�DoÕNODPDNWDGÕUODU���
*ÕGD�YH�LoHFHN�VHNW|U���
7�UNL\H� JÕGD� YH� LoHFHN� VHNW|U�� G�Q\DQÕQ� ���� �ONHVLQH� LKUDFDW�\DSPDNWDGÕU�� ����� \ÕOÕQGD� \DNODúÕN� �� PLO\DU� GRODUOÕN� LKUDFDW� JHUoHNOHúWLUHQ�JÕGD� VHNW|U�QGH� ����� \ÕOÕQGD� ���� E�\�PH� VD÷ODPÕúWÕU�� %XQD� J|UH� �����

��� 5DGLNDO� *D]HWHVL�� ³øKUDFDWWD� +HGHI� $úÕOGÕ´�� (NRQRPL�� �KWWS���ZZZ�UDGLNDO�FRP�WU��
KDEHU�SKS"KDEHUQR ���������������������

��� 7�UNL\H�dLPHQWR�0�VWDKVLOOHUL�%LUOL÷L�����7HPPX]������%DVÕQ�$oÕNODPDVÕ���KWWS���ZZZ���
���� WFPD�RUJ�WU�QHZVBGHWDLOV�SKS"LG �������������������
���� 7XUNLVK�<DWÕUÕP��dLPHQWR�6HNW|U���³dLPHQWR�6HNW|U�QGHNL�%�\�PH�'HYDP�(GL\RU���´��
����� $UDOÕN�������V��������ZZZ�WXUNERUVD�QHW�GRFV�UDSRUODU�VHNWRU�&LPHQWRB65�SGI��������������
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\ÕOÕQÕQ� VRQXQGD�������PLO\DU�GRODUOÕN�ELU� LKUDFDW� V|]�NRQXVX�ROPXúWXU�������\ÕOÕQGD���PLO\DU�GRODU�LWKDODW�\DSÕOÕUNHQ������\ÕOÕQGD����¶OXN�E�\�PH\OH�EX�UDNDPÕQ�����PLO\DU�GRODUD�oÕNPÕúWÕU��6HNW|UGH�LWKDODWOD�LKUDFDW�SDUDOHO�E�\�PH�ND\GHGLOPHNWHGLU��<LQH�GH�E�\�PH�LKUDFDW�OHKLQH�JHOLúPHNWHGLU���
7LFDUHW�VHNW|U���
7LFDUHW� VHNW|U�� ����� \ÕOÕQGD� \DNODúÕN����� GROD\ÕQGD� E�\�P�úW�U������� \ÕOÕQGD�� HNRQRPLQLQ� LWLFL� J�F�� RODUDN� WDQÕPODQDQ� SHUDNHQGHFLOLN�VHNW|U�Q�Q� DYDQWDMODUD� VDKLS� ROPDVÕQGD� DúD÷ÕGD� VÕUDODQDQ� XQVXUODUÕQ� HWNLQ�ROGX÷X�V|\OHQHELOLU���
� $%�LOH�LOLúNLOHULQ�JHOLúPHVL��
� (QIODV\RQXQ�WHN�KDQHOL�UDNDPODU�VHYL\HVLQH�JHULOHPHVL���
� <ÕOGD�RUWDODPD���
OLN�E�\�PH�KÕ]Õ��
����� \ÕOÕQGD� HNRQRPLGH� VD÷ODQDQ� SHUIRUPDQV� YH� \�NVHN� NDONÕQPD�KÕ]Õ�� SHUDNHQGH� VHNW|U�Q�Q� JHOLúPHVLQH� YH� ELUoRN� \HQL� DOÕúYHULú�PHUNH]LQLQ�DoÕOPDVÕQD�\RO�DoPÕúWÕU�������\ÕOÕQGD�GD�EX�LYPH�GHYDP�HWPLúWLU��
7LFDUHW� VHNW|U�QGH� ����� \ÕOÕQGD� ���� PLO\DU� GRODUOÕN� ELU� HúL÷LQ�DúÕOPDVÕ� KHGHILQH� RGDNODQÕOPÕúWÕU�� 8ODúWÕ÷Õ� E�\�NO�N�� VD÷ODGÕ÷Õ� LVWLKGDP�RODQDNODUÕ�YH�NDWPD�GH÷HUOH�7�UNL\H
QLQ� ORNRPRWLI�VHNW|UOHULQGHQ�ELUL�KDOLQH�JHOHQ� RUJDQL]H� SHUDNHQGHFLOL÷LQ�� ����� \ÕOÕQGD� JHUoHNOHúWLULOHQ� \HQL�\DWÕUÕPODUOD�������\ÕOÕQGD�ROGX÷X�JLEL������\ÕOÕQGD�GD�����FLYDUÕQGD�E�\�PH�RUDQÕQD�XODúPÕúWÕU���
�����\ÕOÕ�EDúÕQGD��VD\ÕODUÕ�����RODUDN�WHVSLW�HGLOHQ�RUJDQL]H�DOÕúYHULú�PHUNH]OHULQLQ� VD\ÕVÕQÕQ� |Q�P�]GHNL� ELUNDo� \ÕO� LoLQGH� WDPDPODQDFDN�\DWÕUÕPODUOD�ELUOLNWH����
\H�XODúPDVÕ�EHNOHQPHNWHGLU��
$\UÕFD�������\ÕOÕ�VRQXQD�NDGDU��� LOGH� LON�GHID�ELU�DOÕúYHULú�PHUNH]L�DoÕOPDVÕ� SODQODQPÕúWÕU�� %XQXQ� \DQÕ� VÕUD�� $QDGROX
QXQ� oHúLWOL� \HUOHULQGH�SURMHOHQGLULOPLú�\DWÕUÕPODUD�GHYDP�HGLOPLúWLU��
�

���)$.7g5�$1$/ø=ø�
)DNW|U� DQDOL]L�� ELUELUOHUL\OH� LOLúNLOL� YHUL� \DSÕODUÕQÕ� ELUELULQGHQ�ED÷ÕPVÕ]� YH� GDKD� D]� VD\ÕGD� \HQL� YHUL� \DSÕODUÕQD� G|Q�úW�UPHN� DPDFÕ\OD�NXOODQÕOPDNWDGÕU�� )DNW|U� DQDOL]L�� ELU� ROXúXPX� \D� GD� ROD\Õ� DoÕNODGÕNODUÕ�YDUVD\ÕODQ� GH÷LúNHQOHUL� �IDNW|UOHUL�� JUXSOD\DUDN� RUWDN� IDNW|UOHUL� RUWD\D�NR\PDN�� ELU� ROXúXPX� HWNLOH\HQ� GH÷LúNHQOHUL� JUXSODPDN�� PDM|U� YH� PLQ|U�IDNW|UOHUL�WDQÕPODPDN�DPDFÕ\OD�EDúYXUXODQ�ELU�\|QWHPGLU���
)DNW|U� DQDOL]L�� ELUELUL\OH� LOLúNLOL� oRN� VD\ÕGD� GH÷LúNHQL� ELU� DUD\D�JHWLUHUHN� NDYUDPVDO� RODUDN� DQODPOÕ� D]� VD\ÕGD� \HQL� GH÷LúNHQOHU� EXOPD\Õ��NHúIHWPH\L� DPDoOD\DQ� oRN� GH÷LúNHQOL� ELU� LVWDWLVWLNWLU��)DNW|U� DQDOL]L�� ELU�

���� .REL(IRU��³5HIRUPLVWOHU�$UDQÕ\RU�´��6HNW|U�*ÕGD�(NLP��������KWWS���ZZZ�NREL��HIRU�FRP�WU��
���� KDEHUBGHWD\�DVS"LG �������������������
���� .D]ÕP�g='$0$5��3DNHW�3URJUDPODUÕ�øOH�øVWDWLVWLNVHO�9HUL�$QDOL]L��dRN�'H÷LúNHQOL��
����� $QDOL]OHU���.DDQ�.LWDEHYL��(VNLúHKLU��������V�������



ùLUNHW�'HUHFHOHQGLULOPHVLQGH�)DNW|U�$QDOL]L�.XOODQÕPÕ��

� ��

&���� 6��

IDNW|UOHúWLUPH� \D� GD� RUWDN� IDNW|U� DGÕ� YHULOHQ� \HQL� NDYUDPODUÕ� �GH÷LúNHQOHUL��RUWD\D� oÕNDUPD� \D� GD� PDGGHOHULQ� IDNW|U� \�N� GH÷HUOHULQL� NXOODQDUDN�NDYUDPODUÕQ� LúOHYVHO� WDQÕPODUÕQÕ� HOGH� HWPH� V�UHFL� RODUDN� GD�WDQÕPODQPDNWDGÕU��� %|\OHFH� IDNW|U� DQDOL]L�� ELUoRN� GH÷LúNHQL� ELUNDo� EDúOÕN�DOWÕQGD�WRSOD\DUDN�ELU��IDNW|U�VNRUX��HOGH�HGLOPHNWHGLU���
)DNW|U� DQDOL]LQLQ� LNL� WHPHO� DPDFÕ� EXOXQPDNWDGÕU�� %XQODU�� GH÷LúNHQ�VD\ÕVÕQÕ� D]DOWPDN� YH� GH÷LúNHQOHU� DUDVÕQGDNL� LOLúNLOHUGHQ� \DUDUODQDUDN� ED]Õ�\HQL�\DSÕODU�RUWD\D�oÕNDUPDNWÕU���
)DNW|U� DQDOL]L�� S� GH÷LúNHQOL� ELU� ROD\GD�� ELUELUOHUL� LOH� LOLúNLOL�GH÷LúNHQOHUL� ELU� DUD\D� JHWLUHUHN� D]� VD\ÕGD� \HQL�� LOLúNLVL]� GH÷LúNHQ�� EXOPD\Õ��DPDoODU��� )DNW|U� DQDOL]L� LOH� GH÷LúNHQ� VD\ÕVÕQÕ� D]DOWPDN� YH� GH÷LúNHQOHU�DUDVÕQGDNL� LOLúNLOHUGHQ� \DUDUODQDUDN� ED]Õ� \HQL� \DSÕODU� RUWD\OD� oÕNDUPDN�P�PN�Q� ROXU�� %X� VRQ� DPDo� GH÷LúNHQOHUL� VÕQÕIOD\DUDN� WHN� ELU� IDNW|U� DOWÕQGD�ELUOHúWLUPHN�YH�\HQL�DoÕNOD\ÕFÕ�RUWDN�IDNW|U�\DSÕODUÕ�ROXúWXUPDNWÕU��
)DNW|U�DQDOL]L��GH÷LúNHQOHU�DUDVÕQGDNL�NDUúÕOÕNOÕ�LOLúNLOHUL�LQFHOH\HUHN��GH÷LúNHQOHULQ� GDKD� DQODPOÕ� YH� |]HW� ELU� úHNLOGH� VXQXOPDVÕQÕ� VD÷ODU��� )DNW|U�DQDOL]L�oR÷X�NH]�DUDúWÕUPDODUGD�NXOODQÕODQ�oRN�VD\ÕGDNL�GH÷LúNHQLQ�DVOÕQGD�ELU�NDo� WHPHO� GH÷LúNHQOH� LIDGH� HGLOHELOLS� HGLOHPH\HFH÷LQLQ� PHUDN� HGLOGL÷L�GXUXPODUGD�NXOODQÕOÕU���
)DNW|U�DQDOL]LQLQ�DPDFÕ��GR÷UXGDQ�J|]OHQHQ�GH÷LúNHQOHUH�GD\DQDUDN��GR÷UXGDQ� J|]OHQPH\HQ� IDNW|UOHUL� EHOLUOHPHNWLU�� )DNW|U� DQDOL]LQLQ�PDWHPDWLNVHO� \DSÕVÕ�� oRNOX� UHJUHV\RQD� EHQ]HU�� +HU� GH÷LúNHQ�� JHUoHNWH�J|]OHQHPH\HQ�IDNW|UOHULQ�ELU�GR÷UXVDO�ELOHúLPL�RODUDN�LIDGH�HGLOLU���
+DQJL� GH÷LúNHQOHULQ� KDQJL� IDNW|U�� |OoW�÷�� ELOLQL\RUVD� YH\D� E�W�Q�GH÷LúNHQOHULQ� HúLW� úHNLOGH� D÷ÕUOÕNODQGÕUÕOGÕ÷Õ� JLEL�� GH÷LúNHQOHULQ� QLVEL� |QHPL�ELOLQL\RUVD�IDNW|U�DQDOL]LQLQ�X\JXODQPDVÕ�JHUHNOL�ROPDPDNWDGÕU��
�

���)$.7g5�$1$/ø=ø1ø1�9$56$<,0/$5,�
)DNW|U� DQDOL]L� VRQXoODUÕQÕQ� \RUXPODQDELOLUOL÷LQL� JHOLúWLUPHGH� WHPHO�KHGHI�DúD÷ÕGD�VÕUDODQDQ�\DSÕQÕQ�HOGH�HGLOPHVLGLU���
x +HU�GH÷LúNHQ�HQ�D]�ELU�VÕIÕU�IDNW|U�\�N�GH÷HULQH�VDKLS�ROPDOÕGÕU���
x )DNW|U� PDWULVLQLQ� KHU� ELU� VDWÕUÕQGD� HQ� D]� ELU� WDQH� VÕIÕU� GH÷HUL�ROPDOÕGÕU���
x +HU�IDNW|U��IDNW|U�\�N�GH÷HUOHUL�VÕIÕU�RODQ�ELU�GH÷LúNHQ�JUXEXQD�VDKLS�ROPDOÕGÕU���
x )DNW|UOHULQ� KHU� ELU� oLIWL\OH� LOJLOL� RODUDN� IDNW|UOHUGHQ� ELUL� LoLQ�IDNW|U�\�N�GH÷HUL�VÕIÕU�RODQ��DQFDN�LNLQFL�IDNW|UGH�VÕIÕU�ROPD\DQ�ELUNDo�GH÷LúNHQ�ROPDOÕGÕU���

���� %h<h.g=7h5.��V��������
���� g='$0$5��V�������
���� (�� 7$9ù$1&,/�� 7XWXPODUÕQ� gOo�OPHVL� YH� 6366� øOH� 9HUL� $QDOL]L�� 1REHO� <D\ÕQODUÕ��

$QNDUD��������V�������
���� +�VH\LQ�7$7/,'ø/��8\JXODPDOÕ�dRN�'H÷LúNHQOL�øVWDWLVWLNVHO�$QDOL]��$QNDUD��������V�������
���� %h<h.g=7h5.��V�������
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x dÕNDUÕODQ�IDNW|U�VD\ÕVÕ�G|UW�\D�GD�GDKD�ID]OD�ROGX÷X�GXUXPODUGD��IDNW|UOHULQ�KHU�ELU�oLIWL� LoLQ�IDNW|UOHULQ�KHU� LNLVLQGH�GH�VÕIÕU�\�N�GH÷HULQH�VDKLS�oRN�VD\ÕGD�GH÷LúNHQ�ROPDOÕGÕU���
x )DNW|UOHULQ�KHU�oLIWL� LoLQ�KHU�LNL� IDNW|UGH�GH�\�N�GH÷HUL�VÕIÕUGDQ�IDUNOÕ�RODQ�D]�VD\ÕGD�GH÷LúNHQ�ROPDOÕGÕU���
ø\L�ELU�IDNW|UOHúWLUPHGH�\D�GD�IDNW|U�oÕNDUWPDGD���
x 'H÷LúNHQ�D]DOWPD�ROPDOÕ���
x hUHWLOHQ� \HQL� GH÷LúNHQ� \D� GD� IDNW|UOHU� DUDVÕQGD� LOLúNLVL]OLN�VD÷ODQPDOÕ����
x 8ODúÕODQ�VRQXoODU��\DQL�HOGH�HGLOHQ�IDNW|UOHU�DQODPOÕ�ROPDOÕGÕU���
)DNW|U�DQDOL]LQGH�6366��0,1,7$%��67$7,67,&$�JLEL� LVWDWLVWLNVHO�SDNHW�SURJUDPODUÕ�NXOODQÕODUDN�E�W�Q�KHVDSODPDODU�\DSÕODELOPHNWHGLU���
�

���)$.7g5�$1$/ø=ø1ø1�$ù$0$/$5,�
)DNW|U� DQDOL]LQGH� G|UW� WHPHO� DúDPD� V|]� NRQXVXGXU�� %XQODU�� YHUL�VHWLQLQ� IDNW|U� DQDOL]L� LoLQ� X\JXQOX÷XQXQ� GH÷HUOHQGLULOPHVL�� IDNW|UOHULQ� HOGH�HGLOPHVL��IDNW|UOHULQ�URWDV\RQX�YH�IDNW|UOHULQ�LVLPOHQGLULOPHVLGLU��
)DNW|U�DQDOL]LQLQ�DúDPDODUÕ�úX�úHNLOGH�DoÕNODQDELOLU���
������9HUL�6HWLQLQ�8\JXQOX÷XQXQ�'H÷HUOHQGLULOPHVL��
9HUL� VHWLQLQ� IDNW|U� DQDOL]L� LoLQ� X\JXQ� ROXS� ROPDGÕ÷ÕQÕ�GH÷HUOHQGLUPHN�DPDFÕ\OD��o�\|QWHP�NXOODQÕOÕU��%XQODU��.RUHODV\RQ�PDWULVLQLQ�ROXúWXUXOPDVÕ��%DUOHWW�WHVWL�YH�.DLVHU�0H\HU�2ONLQ��.02��WHVWOHULGLU���
�������)DNW|UOHULQ�(OGH�(GLOPHVL�
%X� DúDPDGD� DPDo�� GH÷LúNHQOHU� DUDVÕQGDNL� LOLúNLOHUL� HQ� \�NVHN�GHUHFHGH� WHPVLO�HGHFHN�D]� VD\ÕGD� IDNW|U�HOGH�HWPHNWLU��.Do� WDQH� IDNW|U�HOGH�HGLOHFH÷L�LOH�LOJLOL�DúD÷ÕGDNL�NÕVWDVODU�V|]�NRQXVXGXU��
� g]�GH÷HU��(LJHQYDOXHV��LVWDWLVWL÷L���
�)DNW|UOHULQ� KHVDSODQPDVÕQGD� |]� GH÷HUOHUGHQ� \DUDUODQÕOÕU� YH� IDNW|U�VD\ÕVÕ� NDGDU� |]� GH÷HU� KHVDSODQÕU�� g]� GH÷HUOHU� IDNW|U� \�NOHULQLQ� NDUHOHULQLQ�WRSODPÕGÕU���
g]� GH÷HU�� KHU� ELU� IDNW|U�Q� IDNW|U� \�NOHULQLQ� NDUHOHUL� WRSODPÕ� ROXS��KHU� ELU� IDNW|U� WDUDIÕQGDQ� DoÕNODQDQ� YDU\DQVÕQ� RUDQÕQÕQ� KHVDSODQPDVÕQGD� YH�|QHPOL� IDNW|U� VD\ÕVÕQD� NDUDU� YHUPHGH� NXOODQÕODQ� ELU� NDWVD\ÕVÕGÕU�� g]� GH÷HU�\�NVHOGLNoH��IDNW|U�Q�DoÕNODGÕ÷Õ�YDU\DQV�GD�\�NVHOLU���
g]�GH÷HUOHULQ�EXOXQPDVÕQGDQ�VRQUD�|QHPOL�|]�GH÷HU� VD\ÕVÕQD�NDUDU�YHUPHN� JHUHNOLGLU�� %X� NDUDUÕ� YHUPHGH� IDUNOÕ� \|QWHPOHU� EXOXQPDNWDGÕU��%LOLQHQ� HQ� EDVLW� \|QWHP� VWDQGDUWODúWÕUÕOPÕú� YHUL� PDWULVLQLQ� NXOODQÕOGÕ÷Õ�

���� 7$7/,'ø/��V��������
���� ùHUHI�.$/$<&,��6366�8\JXODPDOÕ�dRN�'H÷LúNHQOL�øVWDWLVWLN�7HNQLNOHUL��$VLO�<D\ÕQ������
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GXUXPODUGD��.DLVHU�QRUPDOOHúWLUPHVLQH� J|UH�|]�GH÷HUL� ����
LQ��]HULQGH�RODQ�IDNW|UOHULQ� \RUXPD� HVDV� DOÕQPDVÕGÕU��'L÷HU� ELU� DQODWÕPOD� HOH� DOÕQDFDN� IDNW|U�VD\ÕVÕ� ����
GHQ� E�\�N� GH÷HUOL� |]� GH÷HUOHULQLQ� VD\ÕVÕGÕU��*HQHOOLNOH� GH÷LúNHQ�VD\ÕVÕQÕQ� �oH� YH\D� EHúH� E|O�QPHVL\OH� HOGH� HGLOHQ� VD\Õ� ����¶GHQ� E�\�N� |]�GH÷HUH�VDKLS�IDNW|U�VD\ÕVÕQÕ�YHULU���
� 6FUHH�WHVW��
*UDILN� \|QWHPOHULQGHQ� \DUDUODQÕODUDN� JHOLúWLULOPLú� ELU� \|QWHPGLU��6FUHH� WHVW� JUDIL÷L� �oL]JL� JUDIL÷L�� KHU� IDNW|UOH� LOLúNLOL� WRSODP� YDU\DQVÕ�J|VWHUPHNWHGLU��*UDIL÷LQ�\DWD\�úHNLO�DOGÕ÷Õ�QRNWD\D�NDGDU�RODQ�IDNW|UOHU��HOGH�HGLOHFHN�PDNVLPXP�IDNW|U�VD\ÕVÕ�RODUDN�NDEXO�HGLOLU���
� 7RSODP�YDU\DQVÕQ�\�]GHVL�\|QWHPL���
+HU� LODYH� IDNW|U�Q� WRSODP� YDU\DQVÕQ� DoÕNODQPDVÕQD� NDWNÕVÕ� ��¶LQ�DOWÕQD�G�úW�÷�QGH�PDNVLPXP�IDNW|U�VD\ÕVÕQD�XODúÕOPÕú�GHPHNWLU��

� -ROLIIH�.ULWHUL�^���
GHQ�E�\�N�|]�GH÷HU�VD\ÕVÕ�NDGDU�IDNW|U�DOÕQPDVÕ���
���� YH� GDKD� E�\�N� GH÷HUOL� |]GH÷HU� VD\ÕVÕ� NDGDU� IDNW|U� DOÕQPDVÕQÕQ�X\JXQ� RODFD÷ÕQÕ� LOHUL� V�UHQ� ELU� \DNODúÕPGÕU�� %X� \DNODúÕP� LOH� .DLVHU�NULWHULQGHQ�LNL�NDW�GDKD�ID]OD�IDNW|U�VHoLOHELOPHNWH�EX�LVH�GH÷LúNHQ�VD\ÕVÕ�D]�ROGX÷X� GXUXPODUGD� IDNW|UOHULQ� PDQWÕNOÕ� DoÕNODPDODUÕQÕQ� \DSÕOPDVÕQÕ�J�oOHúWLUPHNWHGLU���

� $oÕNODQDQ�9DU\DQV�.ULWHUL���
g]� GH÷HUOHULQ� DoÕNODGÕNODUÕ� \Õ÷ÕOÕPOÕ� YDU\DQVÕQ� HQ� D]� ���� RODFDN�ELoLPGH������������|]�GH÷HU�VD\ÕVÕ�NDGDU�IDNW|U�VHoLOPHVL�úHNOLQGH�EDVLW�ELU�\|QWHPGLU��$oÕNODQDQ�YDU\DQVÕQ�WRSODP�YDU\DQVÕQ�HQ�D]����
L�ROPDVÕ��IDNW|U�DQDOL]LQLQ� X\JXODQPDVÕ� DU]X� HGLOHQ� ED]Õ� GXUXPODUGD� ���
GHQ� D]� ROPDPDN��]HUH��DoÕNODQDQ�YDU\DQVÕQ�HQ�D]����¶������
GHQ�GDKD�D]�DoÕNODQDQ�YDU\DQV�LOH�oDOÕúÕODELOHFH÷L�LOHUL�V�U�OPHNWHGLU���
� $QODúÕODELOLUOLN�.ULWHUL���
6HoLOHFHN� IDNW|U� VD\ÕVÕQÕQ� GH÷LúNHQOHULQ� GR÷DVÕ� LOH� DoÕNODQDELOLU�RODFDN�NDGDU� VHoLOPHVL� \DNODúÕPÕGÕU��+HU�ELU� IDNW|U�� DoÕNODPDNWD� HWNLQ�RODQ�GH÷LúNHQOHULQ�ROXúWXUGX÷X�\DSÕODUÕQ�GR÷DO�GXUXPODUOD�X\XúDQ��PDQWÕNOÕ�RODUDN�DoÕNODQDELOLU� ROPDVÕ� JHUHNLU�� %X� NRúXO�� YHULOHULQ� ELUGHQ� ID]OD� NH]� GH÷LúLN�VD\ÕGD� �N!��� IDNW|U� DODUDN� IDNW|U� DQDOL]L� \DSÕOPDVÕ� YH� X\JXQ� RODQ� o|]�PH�XODúÕOPDVÕ� LOH� VD÷ODQDELOLU��%LU� NXUDO� RODUDN� �
GHQ� GDKD� D]� IDNW|U� EHOLUOHPHN�|QHPOL� ELOJL� ND\EÕQD� QHGHQ� RODFD÷Õ� LoLQ� N!�� ROPDVÕQD� |]HQ� J|VWHUPHN�JHUHNLU��
3UDWLN� ELU� \DNODúÕP� RODUDN� IDNW|U� VD\ÕVÕQD� NDUDU� YHULUNHQ� YHULOHULQ�LQFHOHQPHVL� YH� DoÕNOD\ÕFÕOÕ÷Õ� HQ� L\L� úHNLOGH� YHUHFHN� ELU� IDNW|U� \DSÕVÕQÕQ�GHQHPH�LOH�HOGH�HGLOPHVL�WHUFLK�HGLOHELOLU��)DNW|U�VD\ÕVÕ�GH÷LúWLULOHUHN�DQODPOÕ�ELU� IDNW|U� \DSÕVÕ� RUWD\D� NRQXODUDN� X\JXQ� o|]�POHUH� XODúÕOPDOÕGÕU�� d�QN��

���� 7$9ù$1&,/��V�������
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RUMLQDO� GH÷LúNHQ� \DSÕVÕQD� X\JXQ� ELU� IDNW|U� \DSÕVÕ� EHOLUOHPHN�� ROXúDQ� IDNW|U�\DSÕODUÕQÕ�SUDWLN�ELU�X\JXODPD�DODQÕQD�J|UH�\RUXPODPDN�P�PN�Q�ROXU���
�������)DNW|UOHULQ�5RWDV\RQX�
)DNW|U� URWDV\RQXQGDQ� DPDo�� LVLPOHQGLULOHELOLU� YH� \RUXPODQDELOLU�IDNW|UOHU�HOGH�HWPHNWLU���
%D]HQ�RUMLQDO�IDNW|U�\�NOHULQGHQ�ELOJL�HOGH�HGLOPHVL�]RU�RODELOLU��%X�QHGHQOH�IDNW|U�\DSÕVÕQÕ�GDKD�EDVLW�KDOH�JHWLUPHN�LoLQ�RQODUÕ�EHOLUOL�ELU�DoÕ�LOH�G|QG�UPHN� X\JXQ� ROXU�� $QDOL]� VRQXFXQGD� \RUXPODQPDVÕ� J�o�� oRN� VD\ÕGD�LOLúNLOL� RULMLQDO� GH÷LúNHQGHQ� ED÷ÕPVÕ]�� NDYUDPVDO� RODUDN� DQODPOÕ� D]� VD\ÕGD�IDNW|U�Q��KLSRWHWLN�GH÷LúNHQ��EXOXQPDVÕ�DPDoODQPDNWDGÕU���
ø\L� ELU� IDNW|U� G|Q�ú�P�QGHQ� DúD÷ÕGD� VÕUDODQDQ� VRQXoODU�EHNOHQPHNWHGLU���
� %R\XW�LQGLUJHQPLú�ROPDOÕ��
� %D÷ÕPVÕ]OÕN�VD÷ODQPDOÕ��
� .DYUDPVDO�DQODPOÕOÕ÷Õ�ROPDOÕGÕU����
<XNDUÕGD� VÕUDODQDQ� VRQXoODUGDQ� LON� LNLVL� ³S[P� ER\XWOX� $� \�NOHU�PDWULVL´\OH�HOGH�HGLOPHNWHGLU��%X�LúOHPOHUH�IDNW|UOHúWLUPH�\D�GD�IDNW|U�EXOPD�DGÕ�YHULOLU��ho�QF��VRQXo�LoLQ��\DQL�NDYUDPVDO�DQODPOÕOÕ÷Õ�VD÷ODPDN�LoLQ��HOGH�HGLOHQ�IDNW|UOHUL�GDKD�L\L�\RUXP�YHUHELOHFHN�úHNLOGH�\HQL�IDNW|UOHUH�oHYLUPHN�JHUHNPHNWHGLU���
(NVHQOHULQ�G|QG�U�OPHVL�VRQUDVÕQGD�PDGGHOHULQ�ELU�IDNW|UGHNL�\�N��DUWDUNHQ� GL÷HU� IDNW|UOHUGHNL� \�NOHUL� D]DOÕU�� %|\OHFH� IDNW|UOHU�� NHQGLOHUL\OH�\�NVHN� LOLúNL� YHUHQ� PDGGHOHUL� EXOXUODU� YH� IDNW|UOHU� GDKD� NROD\�\RUXPODQDELOLU���
)DNW|U� DQDOL]LQGH� G|QG�UPHOHU� EDVLW� \DSÕ\D� XODúPD\Õ� JDUDQWL�HWPHPHNWH�� G|QG�UPHGHQ� VRQUD� HOGH� HGLOHFHN� VRQXoODU� LON� IDNW|U�VRQXoODUÕQGDQ�GDKD�DQODPVÕ]�RODELOPHNWHGLU���
)DNW|U� G|QG�UPHVLQGH� LNL� \|QWHP� NXOODQÕOPDNWDGÕU�� %XQODUGDQ� LONL�GLN� �RUWKRJRQDO�� G|QG�UPHGLU�� %X� \|QWHPGH� IDNW|UOHU� LOLúNLVL]GLU�� øNLQFL�\|QWHP�LVH��H÷LN��REOLTXH��G|QG�UPHGLU��%X�\|QWHPGH�LVH�IDNW|UOHU�ELUELUOHUL�LOH� NRUHODV\RQ� LoHULVLQGHGLUOHU�� 'L÷HU� ELU� LIDGH\OH� ELUELULQGHQ� ED÷ÕPVÕ]�GH÷LOOHUGLU��� '|QG�UPH� VRQXQGD� GH÷LúNHQOHUOH� LOJLOL� DoÕNODQDQ� WRSODP�YDU\DQV�GH÷LúPH]NHQ��IDNW|UOHULQ�DoÕNODGÕNODUÕ�YDU\DQVODU�GH÷LúPHNWHGLU���
������)DNW|UOHULQ�øVLPOHQGLULOPHVL�
)DNW|UOHULQ�LVLPOHQGLULOPHVL�ELU�IDNW|U�DOWÕQGD�E�\�N�D÷ÕUOÕNODUÕ�RODQ�GH÷LúNHQOHUL�JUXSOD\DUDN�JHUoHNOHúWLULOPHNWHGLU��
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)DNW|U�DQDOL]LQGH�VRQ�RODUDN�IDNW|U�VNRUODUÕ�HOGH�HGLOPHNWHGLU��)DNW|U�VNRUODUÕ� KHU� ELULPLQ� RUWDN� IDNW|U� \DSÕODUÕQD� J|UH� WDKPLQL� GH÷HUOHULQL�EHOLUWPHNWHGLU��+HU�IDNW|U�\DSÕVÕ�LoLQGH�W�P�GH÷LúNHQOHU�GH÷LúLN�D÷ÕUOÕNWD�\HU�DOPDNWDGÕU��%X�GH÷LúNHQOHUGHQ�ED]ÕODUÕ�DQD�URO�R\QDUNHQ�ED]ÕODUÕ�\DUGÕPFÕ�URO��R\QDUODU�� %HOLUOHQHQ� IDNW|U� \�NOHULQGHQ� \DUDUODQÕODUDN� KHU� ELU� GH÷LúNHQLQ�IDNW|U�\DSÕODUÕQD�J|UH�RUWDN�IDNW|U�SXDQODUÕ��VNRUODUÕ��KHVDSODQDELOLU���
�

���02'(/ø1�dg=h0/(10(6ø���
dDOÕúPDGD�ø0.%¶\H�NRWH�WHNVWLO��KROGLQJ��RWR�YH�\DQ�VDQD\L��RUPDQ��U�QOHUL� YH� DPEDODM�� oLPHQWR�� JÕGD�PDGGHOHUL� YH� WLFDUHW� VHNW|U�QGH� \HU� DODQ����� úLUNHW� DOÕQPÕúWÕU�� ���� úLUNHW� oHúLWOL� PDOL� J|VWHUJHOHU� \ROX\OD�NDUúÕODúWÕUÕODUDN� úLUNHWOHULQ� GHUHFHOHQGLULOPHVLQH� LOLúNLQ� DQD� NÕVWDVODU�EHOLUOHQPH\H�oDOÕúÕOPÕúWÕU���
$QDOL]GH� úLUNHWOHULQ� ����� \ÕOÕ� �� D\OÕN�� �� D\OÕN�� �� D\OÕN� YH� ��� D\OÕN�ELOkQoRODUÕQD�DLW�UDV\RODU�NXOODQÕOPÕúWÕU��+HU�G|QHP�LoLQ�D\QÕ�DQDOL]�\DSÕOPÕú�YH�VRQXoODU�NDUúÕODúWÕUÕOPÕúWÕU��dDOÕúPDGD�NXOODQÕODQ�\DUGÕPFÕ�GH÷LúNHQOHU�%LQ�<7/�FLQVLQGHQ��GL÷HU�UDV\RODU�\�]GH�GH÷HUOHU�FLQVLQGHQGLU���
����úLUNHWH�DLW����UDV\R�G|UW�ER\XW�DOWÕQGD�LQFHOHQPLúWLU��.XOODQÕODQ�UDV\RODU�DúD÷ÕGD�YHULOPLúWLU����

<DUGÕPFÕ�'H÷LúNHQOHU���� )LQDQVDO�.DOGÕUDo�5DV\RODUÕ���
1,6�� 1HW�øúOHWPH�6HUPD\HVL���/$�� /LNLW�$NWLIOHU���'6�� 'HYDPOÕ�6HUPD\H���)92.��� )DL]�YH�9HUJL�gQFHVL��� .DU���

%$72�� %RUo�$NWLIOHU�2UDQÕ��.9%$72�� .ÕVD�9DGHOL�%RUoODU����� $NWLIOHU�2UDQÕ��89%$72�� 8]XQ�9DGHOL�%RUoODU����� $NWLIOHU�2UDQÕ��)%$72�� )LQDQVDO�%RUoODU���$NWLIOHU�2UDQÕ��
.DUOÕOÕN�5DV\RODUÕ��� 0DOL�<DSÕ�5DV\RODUÕ���
$7.0�� $NWLI�.DU�0DUMÕ���%.0�� %U�W�.DU�0DUMÕ���1.0��� 1HW�.DU�0DUMÕ���().0��� (VDV�)DDOL\HW�.DU�0DUMÕ����)/.0��� )DDOL\HW�.DU�0DUMÕ��)92.0��)DL]�YH�9HUJL�gQFHVL��� .DU�0DUMÕ���

0'92=6��0DGGL�'XUDQ�9DUOÕNODU���� g]�� 6HUPD\H�2UDQÕ��'592=6���'XUDQ�9DUOÕNODU�g]�6HUPD\H�2UDQÕ��'59'6��� 'XUDQ�9DUOÕNODU���'HYDPOÕ��� g]�6HUPD\H�2UDQÕ��)'59'6��� )LQDQVDO�'XUDQ�9DUOÕNODU����� 'HYDPOÕ�6HUPD\H�2UDQÕ��
<XNDUÕGD� WDQÕPODQDQ� ��� GH÷LúNHQ� NXOODQÕODUDN� X\JXQ� IDNW|UOHULQ�ROXúWXUXOPDVÕ� LoLQ� GH÷LúNHQOHU� DUDVÕ� NRUHODV\RQODUD� EDNÕOPÕúWÕU�� +HU� G|UW�G|QHP� LoLQ� GH� GH÷LúNHQOHU� DUDVÕ� NRUHODV\RQ� PDWULVL� KHVDSODQPÕúWÕU�� )DNW|U�DQDOL]LQGH� GH÷LúNHQOHULQ� ELU� ER\XWX� EHOLUOH\HELOPHVL� LoLQ� GH÷LúNHQOHU� DUDVÕ�NRUHODV\RQ� GH÷HUOHULQLQ� \�NVHN� ROPDVÕ� JHUHNPHNWHGLU�� %XQGDQ� GROD\Õ�oDOÕúPDGD�HQ�G�ú�N�NRUHODV\RQ�GH÷HUL�����RODUDN�DOÕQPÕúWÕU����
)DNW|U�DQDOL]L�\|QWHPLQGH��DQDOL]GH�NXOODQÕODQ�GH÷LúNHQOHULQ�QRUPDO�GD÷ÕOÕPD�VDKLS�ROPDVÕ�JHUHNOLGLU��dDOÕúPDGD�NXOODQÕODQ�YHULOHU�� �úLUNHWOHUH�DLW��UDV\RODUGÕU�� 5DV\RODUÕQ� QRUPDO� GD÷ÕOÕPD� \DNÕQ� ELU� GD÷ÕOÕP� J|VWHULS�J|VWHUPHGL÷LQL� VÕQDPDN� LoLQ� %DUWOHWW� WHVWL� NXOODQÕOPÕúWÕU�� %DUWOHWW� WHVWL��

���� g='$0$5��V�������
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NRUHODV\RQ� PDWULVLQGH� GH÷LúNHQOHULQ� HQ� D]ÕQGDQ� ELU� NÕVPÕ� DUDVÕQGD� \�NVHN�RUDQOÕ� NRUHODV\RQODU�ROGX÷X�RODVÕOÕ÷ÕQÕ� WHVW� HGHU�� �$QDOL]H� GHYDP�HGHELOPHN�LoLQ� ³NRUHODV\RQ� PDWULVL� ELULP� PDWULVWLU´� VÕIÕU� KLSRWH]LQLQ� UHGGHGLOPHVL�JHUHNLU�� (÷HU� VÕIÕU� KLSRWH]L� UHGGHGLOLUVH�� GH÷LúNHQOHU� DUDVÕQGD� \�NVHN�NRUHODV\RQODU� ROGX÷XQX�� GL÷HU� ELU� LIDGH\OH� YHUL� VHWLQLQ� IDNW|U� DQDOL]L� LoLQ�X\JXQ� ROGX÷XQX� J|VWHULU��� 5HG� HGLOHPH]� LVH� IDNW|U� DQDOL]LQLQ� NXOODQÕOPDVÕ�X\JXQ�GH÷LOGLU���
<DSÕODQ� DQDOL]GH� ����� DQODPOÕOÕN� G�]H\LQGH� VÕIÕU� KLSRWH]L�UHGGHGLOHUHN� QRUPDOOLN� YDUVD\ÕPÕQÕQ� VD÷ODQGÕ÷Õ� J|U�OP�úW�U�� gUQHNOHP�E�\�NO�÷�Q�Q� \HWHUOLOL÷LQL� WHVW� HWPHN� LoLQ� GH� .DLVHU�0H\HU�2ONLQ� �.02��WHVWL� \DSÕOPÕúWÕU�� .02� |Oo�W��� ���������� DUDVÕQGD� ³P�NHPPHO´�� ����������DUDVÕQGD�³oRN�L\L´������������DUDVÕQGD�³L\L´��³����������DUDVÕQGD�³RUWD´������������ DUDVÕQGD� ³]D\ÕI´� YH� ����¶LQ� DOWÕQGD� ROGX÷XQGD� ³NDEXO� HGLOHPH]GLU´��dDOÕúPDGD�LON��o�G|QHP�LoLQ�.02�|Oo�W��RUWD��G|UG�QF��G|QHP�LoLQ�LVH�L\L�G�]H\GH�EXOXQPXúWXU����
$QDOL]GH� NXOODQÕODQ� GH÷LúNHQOHULQ� ER\XW� |OoPH� QLWHOLNOHULQL�EHOLUOHPHN� DPDFÕ\OD� GH÷LúNHQOHU�� IDNW|U� DQDOL]LQH� WDEL� WXWXOPXúODUGÕU��$QDOL]GH� WHPHO� ELOHúHQOHU� \|QWHPL� NXOODQÕOPÕúWÕU�� %X� DúDPDGD� W�P�GH÷LúNHQOHU�LoLQ�|]�GH÷HU�YH�|]�YHNW|U�GH÷HUOHUL�KHVDSODQPÕúWÕU���
/LWHUDW�UGH�|]�GH÷HUL�ELUGHQ�E�\�N�RODQ�GH÷LúNHQOHU�� � IDNW|U�RODUDN�DGODQGÕUÕOPDNWDGÕU�� +HU� IDNW|U� WDUDIÕQGDQ� DoÕNODQDQ� WRSODP� YDU\DQVÕQ�GH÷HUOHUL�G|UW�G|QHP�LoLQGH�KHVDSODQPÕú�YH�VRQXoODU�7DEOR���¶GH�YHULOPLúWLU����
7DEOR����� ������� �������� ������� YH� �������� '|QHPOHULQH� øOLúNLQ�� )DNW|UOHULQ�7RSODP�9DU\DQVÕ�$oÕNODPD�*�F���

7RWDO�9DULDQFH�([SODLQHG�
�����
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